normalized X?

< x2/ndf >

Ratio

< x2/ ndf >

" std pev

0.4668

[ normalized x? probability |

0.07

0.06f -
0.05

0.04f--+

003 1t ebe e
0.02f- -5+t I
0.01-
8 * . i :| ‘ .' frecd
g il H\ \H;‘ e ‘
il : ‘; ] uwll\ ' m
0.95 0.95 MG I 1g HIHIII \HI IHII | i
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
X Prob(x?)
m—m== DQM_mkFit_TToriginal
= DQM_mkFit_TTNEWnoMS-genMatch-CUT
C A
L 218
s %< 1.6
\%
1.6} 1.4
1.4f---- 1.2
1.2 .
0.8
E 0.6
0.8 0.4
0.6} 02
Lu o QF
T
4
i - 05
0. . L oL~ .
10 1 10 10? 10 1072

-1
AR(track, jeltS)



	Contents
	Page 1


